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Time: 2 hours 30 mins.

Child Development and Pedagogy

Directions: Answer the following questions (Q. Nos. 1 to 30)
by selecting the correct/most appropriate options.

1.

Which of the following figure correctly represents
the development according to Piaget’s development
theory?
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Development
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Development
Development

Age Age

A teacher found that a student is facing difficulty in
drawing a square. He/She assumes that this student
would also find it difficult to draw a diamond. He/
She applies which of the following principles to
arrive at his/her assumption?

(1) Development tends to follow an orderly sequence.
(2) Development is saltatory.

(3) Development is gradual.

(4) Development is different for different people.

Which one of the following statements is TRUE
regarding the role of heredity and environment in
human development?

(1) The role of environment is almost fixed, whereas
the impact of heredity can be altered.

(2) The theories based on the ‘behaviourism’ are
largely based on the role of mature’ in human
development.

(3) The relative effects of heredity and environment
vary in different areas of development.

(4) The policy of compensatory discrimination of
the government of India is based on the role of
‘nature’ in human development.

In the context of socialization, schools often have a

hidden curriculum which consists of:

(1) forcible learning, thinking and behaving in
particular ways by imitating peers and teachers

(2) the informal cues about social roles presented in
school through interaction and materials

(3) negotiating and resisting socialization of students
through their families

(4) teaching and assessment of values and attitudes

10.

11.
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Which of the following implications CANNOT be

derived from Piaget’s theory of cognitive development?

(1) Sensitivity to children’s readiness to learn.

(2) Acceptance of individual differences.

(3) Discovery learning.

(4) Need of verbal teaching.

Which of the following is a characteristic of Kohlberg's

stages of moral development?

(1) A variable sequence of stages.

(2) Stages are isolated responses and not general
pattern.

(3) Universal sequences of stages across all cultures.

(4) Stages proceed in a non-hierarchic manner.

Teachers and students draw on one another’s
expertise while working on complex projects related
to real-world problems in classroom.

(1) traditional (2) constructivist

(3) teacher-centric (4) social-constructivist

In the context of progressive education, the term

‘equal educational opportunity’ implies that all

students should:

(1) receive equal education irrespective of their
caste, creed, colour, region and religion

(2) be allowed to prove their capability after
receiving an equal education

(3) be provided an education by using the same
methods and materials without any distinction

(4) be provided an education which is most
appropriate to them and their future life at work

In the context of language development, which of

the following areas was underestimated by Piaget?

(1) Heredity

(2) Social interaction

(3) Egocentric speech

(4) Active construction by the child

An eleven-year-old child’s score on Stanford Binet

Intelligence scale is 130. By assuming p = 100 and

o = 15 in a normal probability curve, calculate the

percentage of 11-year-old children this child has

scored better than.

(1) 98% (2) 88%

(3) 78% 4) 80%

Which of the following observations supports

Howard Gardner’s theory of multiple intelligences?

(1) Damage to one part of the brain affects only a
particular ability sparing others.

(2) Intelligence is an interaction of analytical,
creative and practical intelligences.

(3) Different intelligences are hierarchical in nature.

(4) Teachers should follow one specific theory of
educational innovation at the time of designing
instruction.
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Which one of the following statements is true about

ability and ability grouping?

(1) Students learn better in homogeneous groups.

(2) For smooth and effective teaching, class should
be homogeneous.

(3) Children are intolerant and do not accept
differences.

(4) Teachers may use multilevel teaching to cater to
different ability groups.

Which one of the following statements is true?

(1) The formative assessment can sometimes be
summative assessment and vice versa.

(2) The summative assessment implies that
assessment is a continuous and integral part of
learning.

(3) The major objective of the formative assessment
is to grade the achievement of students.

(4) The formative assessment summarizes the
development of learners during a time interval.

A teacher asks his/her students to draw a concept

map to reflect their comprehension of a topic. He/

She is:

(1) jogging the memory of the students

(2) conducting formative assessment

(3) testing the ability of the students to summarize
the main points

(4) trying to develop rubrics to evaluate the
achievement of the students

Which one of the following represents the domain
‘evaluating’ in the Bloom’s revised taxonomy?

(1) Creating a graph or chart using the data.

(2) Judging the logical consistency of a solution.

(3) Evaluating the pertinence of the data provided.

(4) Formulating a new way for categorizing objects.

Teachers must believe in which of the following

values in the context of dealing with disadvantaged

learners?

(1) Personal accountability for students’ success.

(2) High expectations of appropriate behaviour.

(3) No demands of any sort on the student.

(4) For immediate compliance of students, use of
being shocked and angry.

Stuttering problems in students can be dealt with by
applying which of the following methods?

(1) Dictated speech (2) Prolonged speech

(3) Pragmatic speech (4) Protracted speech

In the context oflearning-disabled children, providing

immediate connections, stressing collaboration and

leveraging non-learning technologies such as instant

messagingintelligentsearchand contentmanagement

are associated with which of the following designs?

(1) Embedded learning

(2) Interventionist learning

(3) Reply to remediation

(4) Universal design for learning

An inclusive classroom is that where:

(1) assessments are repeated till the time every
learner achieves minimum grades

(2) teachers teach from only prescribed books to
lessen the burden of the students
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(3) there is an active involvement of children in
solving as many problems as possible

(4) teachers create diverse and meaningful learning
experiences for every learner

Which one of the following is an appropriate

assignment for a gifted student?

(1) Many more exercises of the same type in
comparison to other students.

(2) Asking him/her to tutor the peers to channelize
the energy and keep him/her busy.

(3) Create a prototype of a new science book based
on different themes.

(4) Letting him/her finish the textbook on his/her
own before the entire class.

Many measures have been taken at institutional

level to check the dropout cases in the schools run

by government agencies. Which of the following is

an institutional reason for children dropping out of

these schools?

(1) There is a lack of infrastructure, such as
blackboards and toilets.

(2) Teachers are not having appropriate qualifications
and are paid lesser salaries.

(3) Teachers have not been sensitized about the
need of treating children well.

(4) There is no alternative curriculum for children
who reject the compulsory curriculum offered.

Learning disabilities are:

(1) objective facts and culture has no role in
determining them

(2) synonymous with dyslexia

(3) also present in children with average or above-
average 1Q

(4) not immutable irrespective of time and nature of
interventions

Problem-solving is more likely to succeed in schools

where:

(1) a flexible curriculum is in place

(2) homogeneous groups of students are present in
the classes

(3) the emphasis is only on higher-order academic

achievement
(4) teacher-centric pedagogy is in effect
Cognitive  apprenticeships and instructional
conversations:

(1) conceive learning as a social activity

(2) are based on application of inductive reasoning

(3) emphasize on systematic organization of textual
material

(4) highlight the need of practical training to achieve
efficiency

Which of the following should be the right way for
a teacher who intends to correct errors of his/her
students?

(1) He/She must correct every error of his/her
students even if it requires late sitting in the
school.

(2) He/She should correct less-frequent errors more
often than high-frequent and generality errors.

(3) He/She should correct errors that interfere with
the general meaning and understandability.

(4) He/She should not correct errors if it irritates
children.
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The following skills are involved in emotional
intelligence, except:

(1) awareness of emotions

(2) management of emotions

(3) criticism of emotions

(4) amicable relation with class fellows

While appearing in an assessment, Devika finds
her arousal as energizing, whereas Rajesh finds his
arousal as discouraging. Their emotional experiences
are most likely to differ with respect to:

(1) the duration of time

(2) the extremity of emotion

(3) the level of adaptation

(4) the intensity of thought

The government of India has started midday meal
scheme for the elementary schools. Which of the
following theories of motivation supports this
scheme?

(1) Behaviourist
(3) Cognitive
Attaching importance to the home setting of students
for understanding children’s behaviour and using
this information for building effective pedagogy
is related to which of the following theories of
learning?

(1) Behaviourist
(3) Constructivist

(2) Socio-cultural
(4) Humanistic

(2) Ecological

(4) Social-constructivist

Which of the following may be the best way to deal

with an inattentive child in the classroom?

(1) Nag the child as frequently in front of the class
to make her/him realize.

(2) Make the child sit in the most distraction-
reduced area.

(3) Allow the child to stand while working so as to
enable the child to focus attention.

(4) Provide the child frequent breaks to refresh her/
his attention.

Mathematics and Science

Directions: Answer the following questions by selecting the
correct/most appropriate options.

31.

32.

33.

34.

The value of 0.001 + 1.01 + 0.11 is:
1) 1111 () 1.101
(3) 1.013 @) 1.121

In 1999, the population of a country was 30.3 million.
The number which is the same as 30.3 million is:

(1) 303000000 (2) 30300000

(3) 3030000 (4) 3030000000

fi?=1+733=1+7+band4=1+7+g
where a, b and c are different positive integers, then
the value of a + b + cis:

(1) 58 (2) 68

3) 77 4 79

We call a number perfect if it is the sum of all its
positive divisors, except itself. For example, 28 is
a perfect number because 28 =1 + 2 + 4 + 7 +
14. Which of the following numbers is a perfect
number?
(1) 13
3)9

) 10
46

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

Oswaal CTET Year-wise Solved Papers

Which of the following numbers is a perfect square?
(1) 548543213 (2) 548543215
(3) 548543251 (4) 548543241

The product of two whole numbers is 24. The
smallest possible sum of these numbers is:

1) 8 2 9

(3) 10 @) 12
502 _ 2500

The value of M is:
3500 4 2

1) 2 (2) 4

(3) 8 ) 16

If 800880 = 8 x 10* + 8 x 10¢¥ + 8 x 10* where x, y
and z are whole numbers, then the value of x + y +
z is:

@ 11 @ 8

(3) 6 4 5

One factor of x* + x2 + 1 is:

1) x*+1 2 ¥*+x-1
(B) ¥*-x+1 4 *-x-1

The scale of a map is given as 1 : 10000. On the map,
a forest occupies a rectangular region measuring 10
cm X 100 cm. The actual area of the forest, in km?,
is:

(1) 1000
(3) 10

(2) 100
@1

I v 5 ¢
A fraction is equivalent to B Its denominator and

numerator add up to 91. What is the difference
between the denominator and numerator of this
fraction?

@ 3 (2) 13

3) 19 4) 21

The number n is doubled and then y is added to
it. The result is then divided by 2 and the original
number n is subtracted from it. The final result is:

¥
™y @ 3

n+y

@) n+y @

A polyhedron has 6 faces and 8 vertices. How many
edges does it have?

1) 10 @) 12
(3) 14 “4) 15
If

1957

—a9

1808
the sum of the digits a and b is:
@) 15 ) 14
() 13 @) 12

Forty-two cubes each of side 1 cm are glued together
to form a solid cuboid. If the perimeter of the base of
the cuboid is 18 cm, then its height, in cm, is:

o1 (2) 2

®3)3 (@) 4

In APQR, PQ =4 cm, PR = 6 cm and QR = 3 cm.
Which of the following is correct?

(1) 4R > £Q (2) £Q > 4R

(3) £Q = 4R (4) 4R < /P
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47. In AABC and ALMN, AB = LM, AC = LN and ZB =

48.

49.

50.

51.

52.

53.

ZM . Then the:

(1) triangles cannot be congruent

(2) triangles must be congruent

(3) triangles will be congruent if /B is a right angle
(4) triangles are congruent only if AB = AC

The area of a trapezium-shaped field is 720 m?, the

distance between the two parallel sides is 20 m and

the length of one of the parallel sides is 35 m. The

length of the other parallel side is:

(1) 35m (2) 36 m

(3) 37m (4) 40 m

If the cost price of 10 candles is equal to the selling

price of 8 candles, the gain/loss percent is:

(1) 25% gain (2) 20% loss

(3) 20% gain (4) 25% loss

The mean of median and mode of the data 7, 6,7, 9,

8,8,10,8is:

(1) 55 () 8

(3) 85 @9

A teacher conducted a debate in the class on the

following topic:

“Zero is the most significant number.”

She encouraged every child to express his/her view

on the topic. The teacher is:

(1) making her classroom more communicative and
reflective

(2) passing her time as students are not in mood of
studying

(3) using her Mathematics class as life-skill class to
develop value of argument among the children.

(4) inducing problem-solving skill among the
children.

Under the topic, “Use of exponents to express small

numbers in standard form”, the following facts are

stated:

(A) The speed of light is 300000000 m/sec.

(B) The height of the Mount Everest is 8848 m.

(C) The diameter of a wire on a computer chip is
0.000003 m.

(D) The size of a plant cell is 0.00001275 m.

The above examples are used to express each stated

number in standard form. Use of such examples

(1) shows the accuracy aspect of numbers

(2) reflects the inter-disciplinary approach

(3) is made in class to grab the attention of students
more interested in science

(4) helps the teacher to identify the bright students

According to Jean Piaget’s theory

(1) introduction of linear equation and learning
techniques of solving it are assimilation and
extending the concept to pair of linear equations
may raise problem of accommodation.

(2) introduction of pair of linear equations and
techniques of solving it are assimilation and
connecting it to basics of linear equation is
accommodation

(3) exposure to linear equation, techniques of solving
it and pair of linear equations are assimilation

(4) learning the concept of linear equation pair
of linear equations and quadratic equations is
problem of accommodation

54.

55.

56.

57.
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‘Maths lab activities” can be used for

(1) formative assessment only

(2) summative assessment only

(3) both formative as well as summative assessment

(4) selecting students for National Mathematics
Olympiad

As per the NCE 2005

(1) narrow aim of teaching Mathematics at school
is to teach number system and higher aim is to
teach algebra

(2) narrow aim of teaching Mathematics at school is
to teach calculation and higher aim is to teach
measurement

(3) narrow aim of teaching Mathematics at school
is to develop numeracy-related skill and higher
aim is to develop problem-solving skill

(4) narrow aim of teaching Mathematics at school
is to teach arithmetic and higher aim is to teach
algebra

According to Bloom's revised taxonomy, the cognitive
objective that can be achieved through the following
task

“Prepare a PowerPoint presentation on contribution
of Indian Mathematicians.” is

(1) remembering (2) understanding
(3) analysing (4) creating

Read the approches used by the two teachers to
teach solving of linear equation, say 2x — 6 = 10.

Teacher A Teacher B
Steps Steps
(a) Take 6 on other| (i) Equation always
side maintains equality.

So same number
can be performed
on both sides to
maintain equality

(b) Change the sign of
6 and add to 10

(c) Get2x =16

(d) Take 2 on the other

side and divide (ii) Hence
(e) Getx =38 2x-6+6 =10+6
or 2x =16
ey 2X 16
iii) — = —
(iii) 5
x =8

It can be observed that
(1) teacher A
understanding while teacher B emphasizes on

emphasizes on instrumental

relational understanding
(2) teacher A
understanding while teacher B emphasizes on

emphasizes on  relational
instrumental understanding

(3) teacher A focuses on conceptual knowledge while
teacher B focuses on procedural knowledge

(4) teachers
understanding

A and B focus on instrumental
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Class VI students were given the following layout of
a house.
le—10 ft —>¢—10 ft —>¢——12 ft — >« 6 ft >

T T Study

| Kid's 5 ft‘ room Dining §

— 3 room g

— | area 3 ft‘ 3
A .

+ 3 ft | Connecting lobby

f Guest Bedroom Living room

I room

The students were asked to find out the—
(A) perimeter and area of each room;
(B) total perimeter and total area of the house.

The above activity can be used by teacher as

formative task because:

(1) it will be easy for teacher to engage all the
students for 40 minutes period

(2) the students responses will help teacher to
diagnose their understanding regarding finding
dimensions, calculations, knowledge of formulae
for perimeter and area, etc.

(3) the students will find the task interesting and
will not disturb each other.

(4) it will remove the phobia of Maths examination

Students’ ability to apply the concept of square roots

in real life situation can be assessed through the

following problem:

(1) Find the smallest square number that is divisible
by each of the numbers 4, 9 and 10.

(2) Calculate the square root of 25600.

(3) Find the smallest number that may be subtracted
from 5607 to get a perfect square

(4) 2025 plants are to be planted in a garden is such
a way that each row contains as many plants as
the number of rows. Find the number of rows
and number of plants in each row.

A student writes

10 cm

= —cm
12 cm 6
15km _ 1000 cm
15m

This student

(1) always commits clerical error of writing unit
with ratio

(2) has clear concept of units and their conversion

(3) can reduce fractions to lowest term correctly and
can write the units properly.

(4) has concept of units, conversion of units,
fractions but missed the concept that ratio does
not have units

Directions: Answer the following questions (Q. Nos. 61 to
90) by selecting the correct/most appropriate options.

61.

Study the following statements about excretory

system in humans:

A. Wastes dissolved in water are filtered out as
urine in the kidneys.

62.

63.

64.

65.

66.
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B. Urine stored in urinary bladder is passed out
through the urinary opening at the end of the
urethra.

C. Ureter carries urine to the urinary bladder.

D. Useful substances are absorbed back in the
blood.

E. Blood containing useful and harmful substances
reaches the kidney for filtration.

The correct order of the processes given in the above
statements is:

(1) D,E, A C B () E D,ACB

() B,D,E,A,C (4) E,D,A,B,C

The pseudopodia of amoeba are used for:

(1) sensing the food only

(2) capture of food only

(3) movement only

(4) movement and capture of food

Below are given some organisms:

(A) Yeasts (B) Bedbugs
(C) Leeches (D) Cuscuta
(E) Algae (F) Lice

(G) Mushrooms (H) Lichens

The organisms which may be classified in the group
of Parasites are

1) A, C, Fand G (2) B,C,Dand H

3) B,C,Dand F 4) C,D,Eand G

In Column-A, names of scientists are given and in
Column-B, some discoveries are given:

Column-A Column-B

A. Alexander Fleming | (i) Anthrax bacterium
B. Edward Jenner

C. Louis Pasteur

(ii) Fermentation

(iii) Lactobacillus
bacterium

D. Robert Koch (iv) Penicillin

(v) Smallpox vaccine

The correct match of the names of scientists with
their discoveries is:

a b C d

® v v i i
@ i i i iv

3) iv ii v iii

@ i v i i

Select the correct statement about biosphere
reserves.

(1) These are the protected areas meant for the
conservation of endemic species only.

(2) These are the areas meant only for the
conservation of plants and animals.

(3) These are the areas which help to maintain the
biodiversity and culture of the areas.

(4) These are the protected areas reserved for
wildlife where they can freely use the habitats
and natural resources.

Study the following statements:

A. Prokaryotes do not have nucleus.

B. A single cell can perform all the functions in a
unicellular organism.

C. Blue-green algae are the examples of prokaryotes.

D. Eukaryotes do not have well organized nucleus
with a nuclear membrane.
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67.

68.

69.

The correct statements are:

(1) A,Band C (2) A,Band D

(3) A, Cand D 4) B,Cand D

In the given diagram, positions of four endocrine
glands in the human body are marked by the letters
A,B Cand D:

The correct labelling of A, B, C and D is:

(1) A-pituitary gland, B-thyroid gland, C-adrenal
gland, D-pancreas

(2) A-adrenal gland, B-pituitary gland, C-pancreas,
D-thyroid gland

(3) A-adrenal gland, B-thyroid gland, C-pancreas,
D-pituitary gland

(4) A-pituitary gland, B-pancreas, C-thyroid gland,
D-adrenal gland

A rectangular container given below is filled with a

liquid heavier than water:

Select the correct statement from the following about
the liquid pressure.

(1) Pressure at A = Pressure at B = Pressure at C
(2) Pressure at A > Pressure at B > Pressure at C
(3) Pressure at C > Pressure at B = Pressure at A
(4) Pressure at C > Pressure at B > Pressure at A

Light is falling on the surfaces S;, S, and S; as shown
below:

S 2
S1 ) S
The surfaces on which the angle of incidence is
equal to the angle of reflection are
(1) S;and S, (2) S;and S,
(3) S;and S, (4) All the three surfaces

70.

71.

72.

73.

74.

75.
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In the diagram of human eye given below, the parts
marked by A, B, C and D should be labelled as

(1) A-ciliary muscle, B-pupil, C-lens, D-cornea

(2) A-iris, B-pupil, C-lens, D-cornea

(3) A-iris, B-cornea, C-pupil, D-lens

(4) A-ciliary muscle, B-iris, C-lens, D-cornea
Impression of an image persists on the retina of
human eye for about:

(1) 1 second (2) 1/2 second

(3) 1/15 second (4) 1/25 second

Study the following statements:

A. Germination of seeds does not take place under
dry conditions.

B. Nutrients get transported to each part of the
plant in dissolved form.

C. The supply of water to crops at different intervals
improves the texture of the soil.

D. The supply of water to crops makes the soil
porous due to which exchange of gases becomes
easy.

E. Water protects the crops from both frost and hot
air currents.

The statements which justify the need to irrigate

crops are:

(1) A,Band C (2) B,Cand D

B) CDand E (4) A,Band E

Study the following statements:

Chromosomes are located in the nucleolus.

Genes are located in the chromosomes.

Unicellular organisms respire and reproduce.

. The most important function of cell membrane
is to control the entry and exit of materials from
cells.

STeL-Fs

The correct statements are:

(1) A,Band C (2) B,Cand D

3) A,Cand D 4) A,Band D

The ultrasound equipments used for investigating
medical problems work at frequency:

(1) below 20 Hz

(2) between 20 Hz and 200000 Hz

(3) between 2000 Hz and 20000 Hz

(4) above 20000 Hz

A solid rectangular block of iron is kept over the top
of a table with its different faces touching the table.
In different cases, the solid block exerts:

(1) same force and same pressure

(2) same force but different pressures

(3) different forces and different pressures

(4) different forces but same pressure
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In the diagram of animal cell given below, the correct
labelling of the parts A, B, C and D is:

: )
8 @
@

X T Q
S e

(1) A-cell wall, B-vacuole, C-chloroplast, D-nucleus

(2) A-cell membrane, B-vacuole, C-nucleus,
D-cytoplasm
(3) A-cell ~membrane, B-plastids, C-nucleus,

D-chloroplast
(4) A-cell wall, B-vacuole, C-nucleus, D-mitochondria

The odometer reading of a moving car at 8:00 a.m.

is 36540 km and at 10:00 a.m. 36666 km. If the car

is moving on a zigzag path with variable speeds, its

average speed in metres per second is:

(1) 6.3 (2) 12.6

(3) 175 “4) 35

A boy has a thick paste of turmeric. On adding this

paste to hydrochloric acid and aqueous solution of

sodium hydroxide separately, what colour(s) would

he observe?

(1) Yellow in both cases

(2) Yellow in hydrochloric acid and red in sodium
hydroxide

(3) Pink in hydrochloric acid and blue in sodium
hydroxide

(4) Blue in hydrochloric acid and red in sodium
hydroxide

Study the following statements with reference to the

villi of small intestine:

A. They are finger-like outgrowths and thousands
in number.

B. They have very thin walls.

C. They have a network of thin and small blood
vessels close to the surface.

D. They have small pores through which food can
easily pass.

The statements which enable the villi to absorb the
digested food are:

(1) A and B only (2) Cand D only

(3) A,Band C 4) B,Cand D

Given below are some food items:

A. Boiled and mashed potato.

B. Boiled and chewed rice.

C. A slice of bread.

D. Sugar solution.

E. Coconut oil.

Which of the above will give blue-black colour when
tested with iodine solution?

(1) Aand C (2) Band D

(3) A,Band C 4) A,Cand E
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While teaching the correct method of using a spring

balance to Class VIII students, Gunjan mentions

the following steps (not in correct sequence) to be

followed:

A. Note the zero error.

B. Calculate the actual reading.

C. Note the position of pointer on the graduated
scale.

D. Record the least count of the spring balance.

Which one of the following is the correct sequence
of the steps to be followed for the said purpose?

(1) A,D,B,C (2) D,A,CB

B) A DCB 4) A,B,D,C

Which one of the following is not a desired objective
of learning of Science at upper primary stage?

(1) To acquire scientific literacy.

(2) To develop rational thinking.

(3) To acquire essential process skills.

(4) To perform better in competitive examinations.

The technique of role-play is considered to be an

effective strategy in teaching of Science because:

(1) it ensures better understanding of one’s role in
real life

(2) it ensures active participation of students in the
process of learning

(3) it is likely to promote social skills of students

(4) it ensures breaking of monotony in the process
of learning

Science is considered to be questioning, exploring,
doing and investigating. Which of the following
activities, carried out by Dipika in teaching of
Science, is best suited to satisfy these criteria?

(1) Unit test on micro organisms.

(2) A group discussion on common diseases.

(3) A debate on environmental issues.

(4) Project work on nature of sound.

The National Curriculum Framework (NCF), 2005

recommends that teaching of Science at upper

primary stage should emphasize maximum on:

(1) relating classroom learning to life outside the
school

(2) memorizing all scientific terms given in textbook

(3) answering all questions given in textbook
exercises

(4) improving students performance in examinations

Geeta is preparing a lesson-plan for teaching

the topic on ‘Human eye’ to Class VIII students.

Inclusion of which of the following activities in the

lesson-plan is likely to be most effective in helping

the students understand related concepts better?

(1) Preparing a good home assignment.

(2) Dictating notes to students in the classroom.

(3) Using student activities and interactive classroom
questioning.

(4) Demonstration using model of human eye.

On the basis of recommendations of National

Curriculum Framework (NCF), 2005, NCERT

textbooks in Science lay greater emphasis on:

A. discouraging rote learning

B. maintaining sharp boundaries between different
domains of Science curriculum

C. providing active learning experiences to students

D. learning exact definitions of scientific terms
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88.

89.

90.

Which one of the following pairs represents the
combination of correct statements given above?

(1) Aand B (2) Aand C

3) Cand D (4) Band C

Which one of the following approaches adopted by

a Science teacher reflects scientific temper on her

part?

(1) Maintaining perfect discipline in the class.

(2) Covering the prescribed syllabus as quickly as
possible.

(3) Encouraging students to ask questions in the
classroom.

(4) Preparing difficult question papers to enhance
learning.

The following steps (not in the proper sequence) are
generally recommended to be followed in scientific
method:

A. Testing of hypothesis

B. Formulation of hypothesis

C. Identification of problem

D. Collection of data

E. Drawing of conclusion

Which one of the following is the correct sequence

of the above steps to be followed for this purpose?

(1) CAD,BE (2) C,B,D,AE

3) D,C, B, AE 4 B,C,AD,E

Hands-on activities and projects form an integral part

of learning of Science. These learning experiences

primarily aim at:

(1) assessing the students on practical skills

(2) keeping the students engaged all the time

(3) maintaining discipline in the laboratory

(4) providing opportunity to students for extended
learning

Language: English

Directions: Read the given passage and answer the questions
(Q. Nos. 91 to 99) that follow by selecting the most appropriate
option

Have you ever wondered what the qualities of a really
professional teacher are? I know that all teachers want
their students to like them, but being liked isn’t the be-all
and end-all really, is it? I mean teachers have to make some
unpopular decisions sometimes. Teachers can be popular
just because they are friendly and helpful, but to be truly
professional and effective, we need to be able to identify
the skills and behaviour we require in a true professional:
A professional teacher needs to be confident without being
arrogant. Nobody can expect to have all the answers, so, if a
student asks a real stinker, the professional teacher should be
able to admit defeat but offer to find out more for the student.
And they must carry that promise out. When the teacher
enters the classroom, she/he should have all the required
materials and the lesson-plan ready. And, in orchestrating
the class, the teacher must give everyone their chance to
contribute and should be flexible enough to modify lessons
if they are obviously not going to plan. Indeed, a fallback
position is part of good planning. It stands to reason also that
a teacher must observe punctuality and appropriate tidiness
and dress: it is not possible to demand such behaviour from
students if the teacher doesn’t set the standards.

The last thing I would mention is that teachers should be
able to feel that their professionalism entitles them to back
up from the school directors. If a teacher has a problem

91.

92.

93.

94.

95.

96.

97.

98.

99.
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class or student, then the school should have procedures

for handling the difficulties. The teacher should not have

to feel alone and vulnerable if a difficult situation arises.

So, yes, professionalism cuts both ways in the standards we

demand of teachers and the framework we have for giving

them support.

The expression isn't the be-all and end-all.. is an

assumption that pertains to the point of

view.

(1) writer’s

(3) students’

Here, the fallback position is the system where

well-prepared.

(1) good students are

(2) good teachers are

(3) teachers, even if caught out unexpectedly, are
still

(4) students and teacher’s who support each other
are

(2) teachers’
(4) general

Here, able to admit defeat implies that

(1) students can catch a teacher unaware

(2) teachers easily lose self-confidence as they lack
professionalism

(3) it doesn’t matter if students often contradict
what their teacher says

(4) teachers should be confident enough to own up
to their ‘unpreparedness’

Here, orchestrating the class suggests

(1) the teacher controlling the class to ensure high
grades

(2) the whole class performing uniformly well

(3) acknowledging the individual differences in the
process of achievement

(4) that music helps academic achievement

Here, ...asks a real stinker.... suggests that...

(1) teachers are always unprepared

(2) students can be better informed than their
teachers

(3) students dislike teachers in general

(4) teachers are unprofessional in students’ eyes

A word that can best replace the word entitles in the

passage is
(1) warrants (2) names
(3) calls (4) gives

The writer’s view that professionalism cuts both ways

means

(1) teachers are faced with students and trustees
hold them accountable

(2) teachers teach well when trustees pay them well

(3) trustees and their employees owe each other
support

(4) students and teachers-owe respect to
management of their school

the

A word from the passage that is the antonym of the
word unshakable, is

(1) vulnerable (2) difficult

(3) helpful (4) effective

Here, framework refers to the overall

(1) school curriculum

(2) clearly spelt out duties for teachers

(3) system for assessment of teachers” performance
(4) transparency in fixing teachers’ salary
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Directions: Read the given poem and answer the questions (Q.
Nos. 100 to 105) that follow by selecting the most appropriate
option.

100.

101.

102.

103.

104.

105.

HAWK
All eyes are fearful of the spotted hawk, whose dappled
wingspread opens to
a phrase
that only victims gaping in the gaze
of Death Occurring can recite. To stalk; to plunge; to harvest;
the denial-squawk of dying’s struggle; these are but a day’s
rebuke to hunger for the hawk, whose glazed accord with
Death admits no show of shock.
Death’s users know it is not theirs to own, nor can they
fathom all it means to die- for young to know a different
Death from old. But when the spotted hawk’s last flight
is flown,
he too becomes a novice, fear-struck by the certain plummet
once these feathers fold.
—Daniel Waters

The denial-squawk refers to the

(1) hawk’s response to the cry of its prey

(2) helpless cry, of its prey, to avert death

(3) warning call by the hawk before killing its prey
(4) desperate, pitiable cry of the prey

To the hawk, a day’s rebuke to hunger suggests that the
bird

(1) bows to hunger

(2) causes death by preying on lesser animals.

(3) averts own death by killing and eating its prey.
(4) faces death fearlessly in contrast to its prey

Here, glazed accord with Death means that

(1) the prey meets death willingly

(2) death is inevitable

(3) death is, in partnership, with starvation

(4) the hawk also becomes a victim of death at the
end

The word that is closest in meaning to the word

dappled in the poem is

(1) spotted, (2) fearful

(3) glazed (4) flown

Here, he too becomes a novice suggests that

(1) the hawk’s prey becomes a predator instead

(2) all living creatures are potentially victims of
others

(3) death comes swiftly to the fearless hawk

(4) the hawk also meets death, as weak and helpless
as its prey

Thefollowingline exemplifies the use of personification

as a poetic device

(1) Death’s users know it is not theirs. to own,....

(2) ...the certain plummet once these feathers fold.

(3) To stalk; to plunge; to harvest;...

(4) But when the spotted hawk's last flight is flown...

Directions: Answer the following questions (Q. Nos. 106 to
120) by selecting the most appropriate option.

106.

107.

Providing students

second language acquisition.

(1) adequate speaking and writing. assignments

(2) the opportunity to voice their opinions and to
problem solve in the target language

(3) frequent feedback on spoken and written outputs

(4) informal interviews

Generally speaking, the first language is

(1) marked by the characteristic difficultyin mastering
it

(2) marked by the influences of the
environment the child is studying in

can encourage

school

108.

109.

110.

111.

112.

113.

114.
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(3) marked by the accent and regional expressions of
the, area where students grow up

(4) influenced by the grammar and style of second
language

Language learning is better achieved if what

students learn

(1) is closer in form and sound to their mother

tongue

(2) helps them improve their chances of college
admission

(3) is functional in terms of their life values and
goals

(4) is in a controlled classroom environment

An activity asks students to determine from a

list of possible answers with a title, what kind of

information will appear in an input text before an

audio recording is played. Here students are

(1) checking for facts.

(2) guessing answers to questions

(3) filling in missing information

(4) actively predicting the content of the input

A speaking activity can be made more purposeful by

(1) insisting on correct structure and pronunciation

(2) interrupting the activity with some writing/
reading

(3) motivating students to complete a task at the end

(4) providing a specific list of vocabulary to use

In the communicative classroom, learners acquire

the grammar of second language to

(1) enhance their formal communication skills.

(2) write confidently

(3) understand second
reading/listening to it

(4) understand how to make meaning and become
more proficient in speaking and writing

language better while

Structures, in second language are better assimilated,

in a pedagogical practice

(1) through meaningful interaction with interesting
content

(2) insisting on accuracy, explicit instruction in rules

(3) through repetition and practice of commonly
used syntax

(4) through application of learnt structures in
discrete language items

Error correction in students’ written work is most

effective when the teacher

(1) writes out the correct answers on the board

(2) revises the wrong answers with them

(3) points out major errors using symbols and
students self-correct

(4) gives students more drill work till they learn’ the
correct responses

Students always find it difficult to listen to and

understand a second language presentation inside

or outside their class. This can be helped by

(1) increasing the number of periods for the second
language

(2) practice by using the second language more

(3) recommending to choose another language closer
to L1

(4) being, taught by only native speakers of L2
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115. When they encounter unfamiliar words during
a reading activity, students should be trained to
while processing the meaning of the
whole text
(1) refer a dictionary to find out the meaning
immediately
(2) ask the teacher or neighbour
(3) use information in its context to correctly guess
its rough area of meaning
(4) choose more simple texts

116. Identify, the question that assesses students’ ability

to infer the meaning of the text.

(1) Why did Mohan change his mind despite his
parents” advice?

(2) Where did Tom and his parents live?

(3) Use the phrase in disbelief in a sentence of your
own.

(4) Give the opposite of ‘delighted”.

117. While assessing a report of a school programme for a

class journal, the following are the main criteria

(1) Descriptive presentation, title, writer’s name

(2) Word limit, title, factual description

(3) Literary style, chronological presentation, word
limit

(4) Relevance, logical organization of content, a
direct style

118. While learning a language, the
instruction provides opportunities for independent
study; a wide range of reference material “and
immediate feedback about achievement.
(1) programmed (2) computer-aided
(3) direct (4) distance
119. A dual-language classroom consisting of students
speaking a native language and the target language
is beneficial because it
(1) motivates target language speaking students
learn another language and vice versa
(2) offers an opportunity for, separate project work
(3) justifies conducting more activities in each
language”
(4) causes less distractions in the class as students
will talk less

120. A student has difficulty in applying the learned
knowledge, for example, in word problems, the
student also fails to translate sentences’ into equations
or identify the variables. A possible. solution to this
problem could be
(1) pairing him/her with high achievers
(2) giving carefully designed assignment-simpler-

simple-complex
(3) allowing more time to complete the same activity
(4) giving only simple assignments to boost their
confidence

Language: Hindi

fader (121-129): = g 1T Terier @ YeHR YV ¢ yeE B
R SUYh SR a1l e gig—

T @t 9 eI Yl TERAS €, T A A S
SR & B, S Alp—9Ug T B, Heu onaR e B |
AR, 9ol & 379 AU A TP Sl M W, A A s
HH IR MU A9 & o8 AT A9 & IRT T A1 9 grEE &
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B, RS Tae—199s ¥ Py M0 SR qr1sl I gQ &=
T V& | DI HH YD AET S YR W &l Bl a1y
5 9% omU® THE B S TRE PR BM R Y D HEAd
T AMYR W T8l B A1V fob 98 HM SMUBT Heamal el
¥ o o fvfr gfg-fee & emuR W B =Ry, ARl
AR, FABFSTS & IR W Has =16l | §9 TP a1 Bl
e AR MY P HE IR AU oS wEd IS v &
39 $¢ JEaT % 7781 | e MY 78 UreT-URaR GAR & |
q B & YD B T g B W & Jol &1 379 e &
raERe AN T8 & 6 ool Bfy &lR erofy & faweror o |
121. ¥ YIRAIT TIRTHS &7

(1) S T @ fRa I &

(2) S o | IR &

(3) T ered @1 Wig A

(4) 7 o8 R w@-Ra &1 Wig &
122. P H B BT R o T &7

(1) S 79 & 39K SR f2d we 1

(2) S SO TSNS & SMYR WX fHy St & |

(3) f ¥ |UE arguRerd B & |

(4) 9 G Fe—qHePY A1 Bl 5
123. 39 TR # 5 YHR & HRf B wHAdT fear mm 7

(1) S ATaTS BT B

(2) S wETE TE A

(3) W gfg IR fas—vfed & MYR W fHy W F

(4) S FEEN WEATS SR gfg W W B B
124. 39 Te¥ § 5= ¥ Fe1 T 52

(1) RN HraATd (2) TIHASION

(3) o1& SR wred (4) Sfa—srofa
125. oRg% 7 39 FRHl | e B D1 AR GIRT B?

(1) faeToT B (2) 9 et @A

(3) TR PBRAT (4) & B
126. ‘THRIHD B Aol oo B—

(1) SFBRIHAD (2) APRIETD

(3) SFFHRIHD (4) SNTBRIHAD
127. 9 @1 &R &J07 MU BN G g B W & Jol &I a9

Y wdAm feae forw emar 37

(1) wTIel WEel & forg

(2) 3EIRT yghmdl & forw

(3) w@rdIRT yafcrll & forw

(4) TR B forw
128. {5 wreq A1 QU &1 AN A BT S Hehdm &7

(1) Jrfae (2) IR

(3) T (4) aIfe®H
129. ‘faweryor’ &1 faa &—

(1) eI (2) arfaeemor

(3) TRa< (4) \emo

frder (130-135): TR § ¥ FrA-—ufREl B TgHR HEN
Sfra fawea &1 @w Hifvro—

|feT B SS-ge I FIAG S,

S 9N &1 9 e gl B

] M, AT B Y B HER—AE Gl
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Rigr @rell &1 5 SIvar o ¥
STS—TTel & A |al Fe arell
TG -3 | T A9 A T <,
TG 9 7 HN He @iel &< P el |
130. 17 | fobd SFaT A SR o fobar T ®?
(1) o=y g ¥
(2) o< &fT Fed § |
(3) <1 Wdi—Efere™l, RGN § BT B B |
(4) S XY FAN B
131. "9 & I H FER—AR AT BT e T—
(1) 319 99 95 ¥ &
(2) 99 BT U I 37T & B
(3) ¥ Pretge IX & B
(4) I 7Y g1 IO fAT B
132. “Rigr= @l &1 6 S=ar ol ¥ 1 ufe a1 Wig g
(1) TS & RIS 31 @rell SRAT Bl
(2) ST, o @1 RigR e <
(3) AR ST 3 Ryt wR & o
(4) INTT & faeg Alead & WR
133. M ST 1 3 % 950 P 85— 9 Pl I
PR qTel uferd B—
(1) S, &, gy 6 srey ARa @@
(2) STe-TeT & HHS AaT e arell
(3) Qfel &1 - G FAG I
(4) T8 9= &1 T YeT Soar |
134. 19’ fHad IR Aaba HRT 7P
(1) fader & 6 &R (2) THERI & &R
(3) TPT BT AR (4) qEERI @1 3R
135. ‘GG S’ I 37 5—
(1) Y= & WA ST
(2) 3rBarE BT
(3) N-9R e
(4) 39 & B foTT TR B
e (136-150): = fa Tv yenil & waw W fAdw &
T HIfTT—
136. 5= WIA® WX W HE-R1eror b FduR SL9g ¥—
(1) 9 & Hieemes 3 uRag
(2) ST vl & SMYR TR AT BT o &M
(3) fafy= aiRfcaes faenel &1 Teaaq S Wl BT
(4) T IR TR W IRT | TG

137. M, 981 3R FWEN g AN Bl Feol IR IS o
R IIf¥egadd e &1 &l &1 [ & § FAfaRed
H 9 DY e B°
(1) TR w=—eraT
(2) fooslt T g2 wer B |aY # fora
(3) g, <@, UG " BT I weAl § forled w9 #
AT BIAT
(4) 1 g femer’ fawg w Aay foramn
138. 9191 & HEH H Thell Sid bl g Sed WA =Rl
AR ... Ay B faFm B gfe I oria HEal B

139.

140.

141.

142.

143.

144.

145.

146.
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(2) wfe e, |=TE Sy, VRERS

(3) TIfe, RTET, ATHITG

(4) dr<d Ay, wiRw Ay, AEIRTG—ToMIS

Teg WAHE WR IR ATHROT-RIL0 B Seed

ARG B |

(1) THROT & GRS B HSTT A

(2) 9T & FRHEg YHA B GHSH IR B! fageryoy
B

(3) 9T &7 g UPd BT IS Aewd o

(4) w91 B B, YHR IR ATHRME A BT Bow
B

T WUfie W) R R aw-en & g am-@

Tfafafer SoART & 8 Far?

(1) TG T P B FE H AUl

(2) RIS, UReR, TR 3R WIS & 31 SUARN &
faeeryor FHRA

(3) Gl & 37 forgay arad

(4) I, SRAA—eRe, s e o @1 B BRar

g FIAMAh R IR ATHROT-R1eT01 6 Faifere Sfaa fafyr
3

(1) Fr fafer (2) ST fafy

(3) wTaT—<T fafdy (@) = fafy

g BT AR A |aifde w9 o R BRar §—

(1) 9TGIYP WX

(2) g IR R

(3) wHe &I AgETRaEar U

(4) FER-AIETH W

T YIAfe WR R I8 oo & o Jea—

(1) T ER-95 7 B9 Tl WeR, o/ 1 FE TS I B
Fifearel w9t 9

(2) 3TN ISAYRIPS B AN UG BT IR PR D

(3) A9 & MMdHed & forg & WM arell |+ wIfafafdmy
T W9 ¥ R o

(@) Wt @ AfARed orvN R IR URASE-a #
FXT B TN B

HET 3MMS & Tl & forv Al & Iu= HRa I MId
T a1 ST aifere St 7

(1) s== @1 9ifve g3 4
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(3) ¥@ & WIN-JANT B WX

(4) 3D AR & YHRIE, TEdh

e, R, aRemat, ae—ae anfe s=ai &
A, ... q
& fIP™T R ¥ 7Eg R B

(1) 9%, F&T, GHET (2) AHF, AT, TEPHATTS
(3) @A, ARg®, folad (4) W, IHIAT, SRGATSS
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147.

148.

149.

150.

AR Al BT PR S H 9T BT Aoyl (AT Bl

¥ | s Aferes Ffared g ¥ {5 W o1 wenm |

(1) 99 3rg¥al TR TITAd B ST

(2) WA BT NGB TSI WY

(3) SRRI—oIEd R SR & S A1 okee aRuad o9
RiEg

(4) ¥=ai @1 fifay wewt 9 egva &, fafdy sgwal &

i ST Pen H =T 9T ggRil & | HiAar B 9 B IR

H IR SR 99T 319 76 [l 91 & Ui Jad & 6

TS 7

(1) BT ¥ SedR, X &1 99 ge1 f=

(2) BT &1 v FfRTd W9, ored & B o

(3) BfaT B1 e H yRakiT BRam arel Aty

(4) ST 1 9TeT, ARV R RN I =1 Sy

R T &7 SN R I UIEHIferl’ el & IR |

Jg qar & fb—

(1) & = S

(2) ¥ S TR fH YR B & B

(3) ST YR F A H g B B

(4) ST w3 fRierdt B e e 81

e wffcas faam @1 Ten W99 oY ¥R Uod WX

Ffaria: g1 7

(1) Siar (2) I

(3) BN (4) THTH
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Option (1) is correct.
Explanation:

Developmen

Age

The above shared is the correct
graphical representation of the
development according to Piaget’s
development theory, which shows
the discreteness or discontinuous
stages of development development
based on age, representing child
development and constructing their
understanding level in distinct and
separate phases.
Option (1) is correct.
Explanation: A teacher found that a
student is facing difficulty in drawing
a square. He/she assumes that this
student would also find it difficult
to draw a diamond. He/she applies
development tends to follow an
orderly sequence principle to arrive
at his/her assumption.

= Development refers to qualitative
changes and quantitative changes
taking place in an individual
through various stages of life by
following an orderly sequence
which means every stage has its
own importance.

Option (3) is correct.

Explanation: The relative effects of

heredity and environment vary in

different areas of development is a

true statement regarding the role of

heredity and environment in human
development.

m Heredity and environment are
inseparably interwoven and both
influence development of an
individual. Heredity is influenced
by genetics in a child. For example,
characteristics of physical growth,
personality, intellectual growth,
social interaction, etc. Whereas
the environment is influenced by
environmental factors like family,
neighbour or school are provided
that are provided to a child.
Thus, relative effect of heredity
and environment may vary in
different areas of the development
from individual to individual.

Option (2) is correct.

Explanation: In the context of

socialization, schools often have a

hidden curriculum which consists

of the informal cues about social
roles presented in schools through
interaction and materials.

m Hidden curriculum refers to the
informal learning (such as values,
beliefs, norms, and behavior as
expected by society) that takes
place in an educational setting/
school.

Option (4) is correct.

Explanation: Implications that cannot

be derived from Piaget’s theory of

cognitive development are needed
for verbal teaching.

m Jean Piaget, a Swiss Psychologist,
proposed Theory of Cognitive
Development comprises 4 stages
of learning, i.e., Schema, Assimila-
tion, Accommodation, and Equili-
brium. His theory is based on
how knowledge is acquired,
constructed, and used by a child.
He emphasizes child cognitive
development with experience and
maturation but did not emphasize
the role of language development.

Option (3) is correct.

Explanation: Universal sequences of

stages across all cultures is a charac-

teristic of Kohlberg's stages of moral
development.

m Lawrence Kohlberg proposed
‘Stages of Moral Development’
including three levels and six
stages. Universal sequences of
stages across all cultures is an
important characteristic empha-
sized in the theory.

Option (4) is correct.

Explanation: Teachers and students

draw on one another’s expertise

while working on complex projects
related to real world problems in
social-constructivist classrooms.

m  Constructivist Classrooms allow
learners to build knowledge and
understanding of concepts based
on their personal experiences.
In Constructivist  Classroom,
students have active participation
in learning and teachers play a
vital role in the teaching-learning
process, where he/she acts as a
facilitator and encourager. In this
kind of setup,

10.

e students working in groups
emphasizing collaborative and
cooperative learning.

o allows learners to foster their
learning abilities.

e teachers provide ample oppor-
tunities to students that encou-
rage them to learn from their
personal experiences.

o Give primacy to peer tutoring,
self-assessment, group activity,
and discussion.

Option (4) is correct.

Explanation: In the context of prog-

ressive education, the term ‘equal

educational opportunity” implies that

all students should be provided an

education which is most appropriate

to them and their future life at work.

= John Dewey introduced
progressive  education, where
students gain knowledge by
engaging themselves with active
hands-on learning experiences
through projects, experiments,
and collaboration with peers. In
progressive education, a teacher
ensures the holistic development
of the child, so each child learns at
their own pace and rate for their
future life.

Option (2) is correct.

Explanation: In the context of langu-

age development, social interaction

area was underestimated by Piaget.

m Jean Piaget, a Swiss Psychologist,
proposed the Theory of Cognitive
emphasising the nature and
cognitive development of indivi-
dualintelligence. Socialinteraction
is not mentioned by Piaget as he
believed a child needs to develop
maturity mentally beforelanguage
development.

Option (1) is correct.

Explanation: An eleven-year-old

child’s score on Stanford-Binet

Intelli-gence Scaleis 130. By assuming

u = 100 and ¢ = 15 in a normal

probability curve, the percentage of

11-year-old children this child has

scored better than 98%.

m Formula:

z=2"H
(e}
130-100
15

According to the Stanford-Binet
intelligence scale index 2 of Z refers
to 97.7 % which is approx 98%.
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Option (1) is correct.

Explanation: Damage to one part of

the brain affects a particular ability

sparing others is observation that
supports Howard Gardner’s Theory
of multiple intelligence.

m In the 1980s, Harvard Gardner,
a psychologist proposed ‘The
Theory of Multiple Intelligence’,
which states that people aren't
bornwithintelligence, butmultiple
different types of intelligence
may exist in different individuals.
The eight types of intelligence
described by Harvard Gardner
that states damaging one part of
the brain affects only a particular
ability.

Option (4) is correct.
Explanation: Teachers may use
multilevel teaching to cater to

different ability groups is true about

ability and ability grouping.

m Multilevel teaching is a teaching
process of teaching children
in such a manner where the
individual needs of each child are
met.

Option (1) is correct.

Explanation: The formative assess-

ment can sometimes be summative

assessment and vice versa is true
statement.

m Assessment accesses students’
performances against the learn-
ing outcomes and standards
set for them. Formative and
summative assessment are two
types of assessment. Sometimes,
Formative assessment and
Summative assessment can be
exchanged in place of one another
in a classroom to measure student
understanding and progress.

Option (2) is correct.

Explanation: A teacher asks his/her

students to draw a concept map to

reflect their comprehension of a

topic. He/she is conducting formative

assessment.

m Formative assessment is a
continuous assessment process
that helps learners to achieve
learning goals through various
activitiesundertakenby teachersto
give feedback to students in order
to improve their performance by
indicating the areas where they
are lacking.

Option (2) is correct.

Explanation: Judging the logical

consistency of a solution represents

the domain ‘evaluating’ in the

Bloom's revised taxonomy.

m Evaluation is the final level in
Bloom’s  Taxonomy  pyramid
that helps a student to make an
informed and final decision on
a solution. Evaluation is a level
where students critically examine

16.

17.

18.

19.

20.

information, make judgments,
and justify the decision taken
related to the material they have
learned, applied, and analyzed in
the classroom.

Option (1) is correct.

Explanation: Teachers must believein

personal accountability for students’

success in the context of dealing with
disadvantaged learners.

Disadvantaged learners are those

learners whose social, economic, and

cultural circumstances/backgrounds

are different from others. Thus, a

teacher should ensure that their

circumstances do not cause any
hindrance in the learning process by
enhancing their self-esteem.

Option (2) is correct.

Explanation: Stuttering problems in

students can be dealt by applying

prolonged speech method.

m A speech disorder, where an
individual repeats the words
again and again affecting his/her
flow of speech, is called Stuttering,
it can be dealt with prolonged (itis
a fluency technique that involves
stretching each speech sound
slightly more than we normally
would) speech technique.

Option (1) is correct.
Explanation: In the context of
learning-disabled children, providing
immediate connections, stressing
collaboration, and leveraging non-
learning technologies such as instant
messaging, intelligent search and
content management are associated
with embedded learning.

s Embedded learning happens
when teachers provide learning
opportunities tolearnersby prepa-
ring various classroom activities
(in fields of literacy, language,
numeracy, and lifelong skills)
matching individual learning
needs. Such learning program is
aimed atmakinglearning-disabled
children confident, motivated,
and competent by experiencing
quality experiences.

Option (4) is correct.

Explanation: An inclusive classroom

is that where teachers create diverse

and meaningful learning experiences
for every learner.

®m An inclusive classroom is an
approach to learning where
students are provided diverse and
meaningful learning experiences
toachieve theirlearning outcomes.

Option (2) is correct.

Explanation: Asking him/her to

tutor the peers to channelize the

energy and keep him/her busy is an
appropriate assignment for a gifted
student.

m Gifted children are those children
who perform tasks extraordinarily

21.
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when compared with their peer
group.
Option (4) is correct.
Explanation: Many measures have
been taken at institutional level
to check the dropout cases on the
schools run by government agencies.
There is no alternative curriculum for
children who reject the compulsory
curriculum offered is an institutional
reason for children dropping out
these schools.

m In a school, children came
from varied socio-cultural and
economic backgrounds. They

have different learning abilities; a
regular curriculum might not be
suitable for all children. Therefore,
an alternative curriculum is
needed for learners who are not
able to make progress in a general
education setting.

Option (3) is correct.

Explanation: Learning disabilities are

also present in children with average

or above-average 1Q.

m Learning disability is referred
to as a neurological disorder
that affects an individual way
of receiving and processing
information. A learner is expected
to face learning difficulties in
reading, writing, listening, and
mathematical calculations which
are not only caused by disability
but also caused due to emotional
or cultural differences.

Option (1) is correct.

Explanation: Problem solving is more

likely to succeed in schools where a

flexible curriculum is in place.

m When an institute follows a
learner-centered approach and
provides various opportunities
such as a flexible curriculum
and problem-solving skills to its
learners, they learn better and
succeed in different areas of life.

Option (1) is correct.

Explanation: Cognitive apprentice-

ships and instructional conceive

learning as a social activity.

m Cognitive apprenticeship is a
pedagogical method of involving
students in practices through
activities and social interactions.

Instructional conversations are a
learning process where the teacher
assists learners through scaffolding
to perform better.
Option (3) is correct.
Explanation: He/she should correct
errors that interfere with the general
meaning and understandability,
should be a right way for a teacher
who intends to correct errors of his/
her students as errors will help to
know the:
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m the gap between conceptual
knowledge and  procedural
knowledge.

26.

27.

28.

29.

30.

m how much actual learning has
occurred.

m Jearner’s understanding level
through a specific learning style
and pattern.

Option (3) is correct.

Explanation: The skills are involved

in emotional intelligence, except

criticism of emotions.

= Emotional intelligence helps an
individual with the ability to
control, perceive and assess one’s
and other’s emotions. Emotional
Intelligences skills involved:

e Social skills
e Motivation
o Adaptability
e Awareness
e Management

Option (3) is correct.
Explanation: While appearing in an
assessment Devika finds her arousal
as energizing whereas Rajesh finds
his arousal as discouraging. Their
emotional experiences are most likely
to differ with respect to the level of
adaptation.

m Level of adaption means the
response of an individual
regarding a particular stimulus
can be based on individual past
experiences.

Option (4) is correct.

Explanation: The Government of

India has started Midday Meal

Scheme for the elementary schools.

Humanistic theories of motivation

support this Scheme.

m  Humanistic theory of motivation
addresses the basic needs of an
individual with effect on their
action.

Option (2) is correct.
Explanation: Attaching importance
to the home setting of students for
understanding children’s behavior
and using this information for
building effective pedagogy is related
to ecological theories of learning.

m Ecological theories of learning
is a the study of the interaction
between community, society,
and environment influencing the
development of a child.

Option (2) is correct.

Explanation: Make the child sit in

the most distraction-reduced area

may be the best way to deal with an
inattentive child in the classroom.

So, as to increase child’s attention

span and his/her learning needs are

catered.
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Option (4) is correct.
Explanation: Adding the numbers,
we get
0.001 + 1.01 + 0.11 = 1.121
Option (2) is correct.
Explanation: Here,
30.3 million = 303 lakh

= 3 crore 3 lakh

= 30,300,000.
Therefore, the number which is the
same as 30.3 million is 30,300,000.
Option (3) is correct.
Explanation: Given,

ad=1+7 ..(i)
¥ =1+7+0b ...(ii)
B =1+7+c ...(iii)
Now, solving equation (i), we get,
d=1+7
=8
a=2
Solving equation (ii), we get,
F=1+7+b
27 =8+0b
b=19

Solving equation (iii), we get,
B =1+7+c

64 =8+ ¢
¢ =56
Now adding the values a, b and ¢,

we get,
a+b+c=2+19 + 56
a+b+c=77
Therefore, the value ofa + b + cis 77.
Option (4) is correct.
Explanation: We will check the
condition of a perfect numbers in the
given options:
Option first, 13
Divisor: 1
Option 2: 10
Divisors: 1 + 2 +5=8
Option third: 6
Divisors: 1 + 2 +3 =6
Therefore, the perfect number is 6.
Option (4) is correct.
Explanation: Only the option,
548543241 can be expressed as in
terms of the product of pairs of prime
factors 3% x 372 x 2112
Option (3) is correct.
Explanation: The possible product
pairs of 24 are:
(1*24), (2*12), (3*8), (4*6)
The sum of the given pairs are as
follows:

1+24 =25
2+12 =14
3+8 =11
4+6 =10

The pair will smallest sum = 4, 6
which gives 10.

Option (3) is correct.

Explanation: Dividing numerator
and denominator by 35

38.

39.

40.

41.

We will get,
16

32 —14350
2
1+ 3500
16 2
Here, 350 and 350 are very small
and negligible, we can replace the
values by 0.
Now,
3 -1
1
= 9-1
= 8
Hence, the value of the given
expression is 8.

=

Option (2) is correct.

Explanation:

Given, 800880 = 8 x 10* + 8 x 10¥
+ 8 x 107

Simplifying the equation,
= 800880 = 800000 + 800 + 80
Now, expressing the equation in the
power of 10
= 800880 = 800000 + 800 + 80
=8 x 10° + 8 x 107
+ 8 x 10!
By comparing, we get the values of
x,yand zas 5,2 and 1.
The sum of x, y, z will be:
5+2+1=38
Option (3) is correct.
Explanation: Given, x* + x2 + 1
Factorizing the given expression, we
get,
= (@2 +20%) X1+ 1242
= (P4 1)2-2
= @+1-0E*+1+7%)
Therefore, the one factor of x* + x2 +
lis(x?>-x+1)
Option (3) is correct.
Explanation:
Given, Scale of map = 1:10000
Forest area on map = 10 X 100
As per question,
1 km = 1000 m
1 m =100 cm
1 km = 100000 cm
1 unit of map = 10000
Actual length of forest
= 10 x 10000
100000 cm
=1km
Actual breadth of forest
=100 x 10000
= 1000000 cm
=10 km
Area of forest = 1 x 10
= 10 km?
Option (4) is correct.
Explanation: Let numerator be x and
denominator be y;
As per the question,

x+y =91
= x o _5

91-x 8
Therefore,

Numerator = 35
Denominator = 91 - 35
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=56
Difference between numerator and
denominator

=56 -35

=21
Option (2) is correct.
Explanation: Let the number be 7.
Number is doubled =2n
Adding y to double the number

=2n+y
Now, dividing the result by 2;
= 2n+y
2

- ()

Subtracting n from the result,
= oL
2

= Y

2
Option (2) is correct.
Explanation:
Given,

Number of faces = 6

Number of vertices = 8
UsingEuler’sformulafor polyhedron,

F+V-E=2
Here,

F is the number of faces

V is the number of vertices

E is the number of edges
Let the number of edges of
polyhedron be E.
Then, substituting the given values in
the Euler’s formula, we get,
= 6+8-E=2
= 14-E =2
= E =12
Option (2) is correct.
Explanation: Solving
expression we get,

1957 — a9 = 1808

= 1957 — 1868 = a9
Because the number 7 at unit digit is
less than the number 8, the number
1 was borrowed from the number 5.
The result shows that 1 was also
borrowed to the number 5 from the
number 9 in the hundredth position.

the given

= 14-b =a
= a+b =14
Option (3) is correct.
Explanation:

Given,

Number of cubes = 42
Side of cube =1
Now, the number of cubes in base of
cuboid
18-4=14

Height of cuboid = gx 1

14
=3
Therefore, the height of the cuboid
is 3 cm.

46.

47.
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Option (2) is correct.
Explanation:
Given, PQ = 4 cm; PR =6 cm; QR=
3cm
P

Q R
Using sides of triangle,
PR is longest side of given triangle,
largest angle is Q.
Similarly, smallest side is QR, smallest
angle is P
Therefore, angle Q is greater than
angle R.

Option (1) is correct.

Explanation: In the given two
triangles,
AB = LM,
AC =1LN
/B = /M
A L
C M N

These are not congruent angles
because two sides are equal but
corresponding angle is not equal.
Option (3) is correct.

Explanation: Length of one of parallel
sides = 35 m

Let length of other parallel side = x

Area of Trapezium = %(a +b)xd

720 = %(35+x)>< 20

3B+x=72
x =37m
Option (1) is correct.
Explanation: Given,
Cost price of 10 candles
= Selling price of 8 candles
Let the cost price be x and the selling

price be y.

Then,

= 10xx =8Xy
x _ b

= y =12

Clearly, CP (x) is greater than SP (y),
which means gain.

Gain — {(EVT‘L)}( 100

= (1] x100
5

=20%
Option (2) is correct.
Explanation:
Given: 6,7,7,8,8,8,9, 10
The most repeated term in the data
is 8 (3 times)
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Therefore,
Mode = 8
th th
Median = 4"term + 5 'term
2
_[8+8
2
=8
Mean — 8+8
2
=38

Option (1) is correct.

Explanation: Effective communica-
tion in the classroom is necessary
for positive environment and
encouraging teamwork. Listening
and speaking skills of children
will be developed when teachers
asks questions. This fosters healthy
behavior in the classroom.

Option (2) is correct.

Explanation: Interdisciplinary app-
roach means combination of multiple
disciplines in one activity. This app-
roach in teaching helps students to
develop connections and correla-
tions between the subjects. This is
the enriching learning experience.
Teacher telling facts and relating it
to mathematics would help students
to think problems as well as their
solutions from multiple perspectives.
Option (1) is correct.

Explanation: The two main concepts
of jean Piaget theory is assimilation
and accommodation. Process of tak-
ing in new information in to previous
schema is assimilation and changing
of existing schemas is known as
accommodation. So  introduction
of a new concept like equation
is assimilation and extension of
concept like change in equation is
accommodation.

Option (3) is correct.

Explanation: Continuous assessment
of learners” work not only facilitates
their learning of Mathematics but
also enhances their confidence
in the application of learning in
Mathematics. This view changes the
focus of assessment from summative
evaluation, where learners are
evaluated at the end of the unit and
provided grades, to the formative
evaluation where learners are
evaluated in the pursuit of learning.

Option (3) is correct.

Explanation: As per the NCE 2005,
the main focus of mathematics
curriculum is solving. It is necessary
fordeveloping numeracyrelatedskills
and capabilities. Problem-solving is a
skill which involves critical thinking
and decision-making,.

Option (4) is correct.

Explanation: Creation means compi-
ling information and combining



326

57.

58.
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elements in a new pattern or propo-
singalternativesolutions.Inacreation
process, learners combine ideas and
facts to create original work. Making a
PowerPoint presentation is a creation
work that would vary from each
individual.

Option (1) is correct.

Explanation: Teacher A is empha-
sizing instrumental understanding
that is a step by step approach
which can be manipulated. Teacher
B is emphasizing relational under-
standing that focuses on using of
the concept and then knowing the
‘why aspect’.

Option (2) is correct.
Explanation:The given activity canbe
used as a formative assessment task
for teachers to evaluate their students’
understanding of concepts such as
finding dimensions, performing
calculations and using perimeter
and area formulas. After the teacher
has explained the concept, they can
assess the students’ understanding
of related formulas and concepts.
The goal of formative assessments
is to monitor students’ progress,
determine if learning objectives have
been met and provide feedback on
the teaching-learning process.
Option (4) is correct.

Explanation: Understanding square
roots is critical because it serves as
a foundation for other mathematical
concepts. Learning mathematics
is analogous to building a house,
with the lower blocks serving as the
foundation for the rest. A problem,
such as finding the number of rows
and plants when 2025 plants are to be
planted in a garden so that each row
contains the same number of plants
as the number of rows, can be given
to students to assess their ability to
apply the concept of square roots
in real-life situations. Students who
understand the concept of square
roots will have no trouble solving this
problem. As a result, this problem can
be used to assess students’ ability to
apply square root concepts in real-
world situations.

Option (4) is correct.

Explanation: The student in question
understands units of measurement,
unit conversion and fractions.
However, they have overlooked the
fact that ratios do not have units.
A unit of measurement is a specific
quantity such as metres, centimetres,
millimetres, or kilometres. Conver-
sion of units entails converting one
unit to another, such as metres to
centimetres. A fraction denotes a
portion of a whole. The student
understands all of these concepts,
but they have not grasped the
concept that ratios do not have units.

61.
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Ratios are expressed as a numerator
over a denominator, such as 5/6. As a
result, the correct answer is 4.
Option (2) is correct.

Explanation: The process of Human

excretory system is as follows:

e Process of filtration of blood by
blood capillaries

e Useful and harmful substance is
present in blood reaches kidneys

e Useful substances absorb waste.

o Urine from kidney goes to bladder
through tube like passage called
ureters.

e It is then passed out through
urinary opening at end of
muscular tube called urethra.

Option (4) is correct.

Explanation: Pseudopodia is a tem-

porary cytoplasm-filled projection

of a eukaryotic cell membrane or a

unicellular protist. Itis helpfulinloco-

motion, engulfment and ingestion.

Option (3) is correct.

Explanation: Bedbugs, leeches, lice,

cuscuta are examples of parasites.

They are dependent on another

organisms or plants for nutrition.

Some parasites like lice and bedbugs

feed themselves on blood of other

animals.

Option (1) is correct.

Explanation: Alexander Fleming -

Penicillin

Edward Jenner — Smallpox vaccine

Louis Pasteur — Fermentation

Robert Koch — Anthrax Bacterium

Option (4) is correct.

Explanation: Biosphere reserves

are protected lands for conserving

wildlife, animal and plant resources.

It maintains sustainable development

in the area. Not only the plants and

animals but also humans inhabiting
these areas are protected.

Option (1) is correct.

Explanation: Eukaryotic cells have a

well-organized nucleus with nuclear

membrane. They can be either
unicellular or multicellular.

Option (1) is correct.

Explanation: Correct position from

top to bottom is pituitary gland,

thyroid gland, adrenal gland and
pancreas. The pituitary gland is
located below the brain. The thyroid
gland is located in front of the neck.

An adrenal gland is located on top of

each kidney. The pancreas is located

across the back of the abdomen,
behind the stomach.

Option (4) is correct.

Explanation: Pressure is physical

quantity which is a force acting per

unitof area. The liquid exerts pressure
on the walls of its container.Equal
pressure is applied at equal height
in all directions by the liquid.As we
go toward depth the more liquid

69.
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Aqueous
humour

Crystalline

71.

72.
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is above to exert the pressure. So,
pressure increases as we go in depth.
The pressure at A will be less than
B, as less amount of liquid is present
above it to exert the pressure.
Option (4) is correct.

Explanation: The laws of reflection
govern how light rays behave when
they are reflected from a flat, polished
surface. According to these laws, the
angle of incidence of a light ray is
always equal to the angle of reflection.
This means that the angle at which
the light strikes the surface (the angle
of incidence) will be the same as the
angle at which it bounces off (the
angle of reflection). Furthermore, the
incident ray, reflected ray and normal
line (perpendicular to the surface)
will all lie on the same plane. These
laws apply to all types of surfaces
and the angles are measured from
the point of Incidence.

Option (4) is correct.

Explanation: Following are the labels
of eye:

Iris

Cornea
Pupil

lens
Iris

Vitreous
humour
Option (3) is correct.
Explanation: Human eye which
consists of convex lens give
impression of image that does not
vanish immediately. It persists there
for 1/16th of a second. The nearest
option is 1/15th of a second.
Option (4) is correct.
Explanation: For germination of
seeds, water is important. Nutrients
are transported to part of the plant
through water only in dissolved
form. Crops are protected from frost
and hot air currents with the help of
water.
Option (2) is correct.
Explanation:
Chromosomes are not located in the
nucleoluswhereas genesarelocatedin
chromosomes. Unicellular organisms
reproduce such as amoeba respire by
process of cellular respiration. Cell
membranes controls entry and exit
of materials from cells.
Option (4) is correct.
Explanation: Ultrasonic sounds have
frequency greater than 20000 Hz. We
cannot hear ultrasonic sound because
this is above the normal hearing
range for humans.
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Cell membrane

Mitochondria
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Option (2) is correct.

Explanation: The solid block exerts
a force on the table which is equal
to weight of block. The pressure will
differ as the surface area in contact
with table is different in different
cases.

Option (2) is correct.

Explanation: The labels of animal cell
is as follows:

Vacuole

Cell wall

Nucleus

Cytoplasm
Chloroplast
Vacuole

Option (3) is correct.
Explanation:
Odometer reading at 8 am = 36540
Odometer reading at 10 am = 36666
Difference = 36666 — 36540
= 126 km
Speed = Distance
Time
126
2
= 63 km/hr

Converting into meters/second, by
1000

3600

multiplying second

v =63 x 1000
3600

That is,

=175
Option (2) is correct.
Explanation: Turmeric is natural
indicator and thus remains yellow in
acidic solution and turns red in basic
solution. Turmeric becomes red in
sodium hydroxide solution because
that is a base.
Option (3) is correct.
Explanation: The food stored in
stomach first goes to small intestine
in which blood vessel absorb food.
Villi, a finger like projection is
present which have thin walls and
covered with capillaries, this ensures
maximum absorption.
Option (1) is correct.
Explanation: When testing with
iodine solution, boiled and mashed
potato and slice of bread changes
color to blue and black. This is
because these items contain starch
which is a carbohydrate.
Option (2) is correct.
Explanation: Spring balance is used
for measuring the mass of an object.
The correct process is:
1. Record the least count of spring

balance
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2. Note 0 error
3. Note position of pointer on grad-
uated scale
4. Calculate the actual reading.
Option (4) is correct.
Explanation: Science is a classified
knowledge gained from systematic
study. Competition is not the motive
for learning of Science. Knowing
the facts and principle of Science is
necessary. This helps in cognitive
development of child.
Option (2) is correct.
Explanation: Role play is student
centered method of teaching. This
method helps in training students’
comprehensive abilities, such as
vocabulary, on-site reaction speed
and communication. They can
explore realistic situation by this
method.
Option (4) is correct.
Explanation: The best suited criteria
hereis projectwork. Projects start with
asking questions and then followed
by research and investigation. When
hypothesis is framed, thinking of
experimentation is started. Then,
observations are recorded and
analysed.
Option (1) is correct.
Explanation: Learning based on life
outside school relates going beyond
the textbooks. It connects children’s
understanding with their own
experiences.
Option (4) is correct.
Explanation: Demonstrating is the
best way tolearn through observation
which can include chart or models.
It is a great way to call for active
participation from the students.
Option (2) is correct.
Explanation:The National
Curriculum Framework (NCF) of
2005 recommends that NCERT
Science textbooks provide learners
with more opportunities to explore
various aspects of science and
connect them to their everyday
experiences. Rather than just simple
hands-on activities, textbooks
should emphasise experimentation
and testing. Furthermore, the NCF
discourages rote learning and
suggests that textbooks should
present challenging situations that
encourage active engagement and
knowledge construction rather than
simply providing factual information.
Based on these considerations, it is
possible to conclude that options (A)
and (C) together represent the correct
statements.
Option (3) is correct.
Explanation:  Encouraging  the
students to ask questions help to
maintain active participation and
student confidence in the class. It
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is necessary for retaining focus and

attention in the class. Also, only

teacher speaking in the class is

monotonous.

Option (2) is correct.

Explanation: The correct steps for

scientific method are as follows:

1. Identification of problem

2. Review of literature

3. Formulating of hypothesis

4. Identifying, manipulating and
controlling variables

. Formulating a research design

6. Constructing device for

observation and measurement

ul

7. Sample selection and data
collection ‘data analysis and
interpretation

8. Hypothesis testing

9. Drawing conclusion

Option (4) is correct.

Explanation: Hands on activities and
projects helps in developing pyscho-
motor skills of students. These may
include observation, drawing, desi-
gning etc. These are best for enriched
learning experiencesin the classroom.

Language: English

91.

92.

93.

94.

Option (2) is correct.

Explanation: “Have you ever won-
dered what the qualities of a really
professional teacher are? I know that
all teachers want their students to
like them, but being liked isn’t the
be-all and, end-all really, is it?”

From the above lines derived from
the passage, we can conclude that the
expression “isn’t the be-all and end-
all.”. is an assumption that pertains
to the teachers’ point of view.
Option (3) is correct.

Explanation: Fall back position is
being caught off guard or being
ready for unexpected developments.
A teacher should be well equipped
to handle situations which she/ he
had not planned . Being ready for
such unexpected developments in
the classroom should also be part of
the planning.

Option (4) is correct.

Explanation: “A professional teacher
needs to be confident without being
arrogant. Nobody can except to have
all the answers, so, if a student asks a
real stinker, the professional teacher
should be able to admit defeat but
offer to find out more for the student.
And they must carry that promise
out.”

From the above lines derived from
the passage, we can conclude that
here, able to admit defeat implies that
teachers should be confident enough
to own up their ‘unpreparedness’.

Option (3) is correct.
Explanation: “When the teacher
enters the classroom, she/he should
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96.
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have all the required materials
and the lesson-plan ready. And, in
orchestrating the class, the teacher
must give everyone their chance to
contribute and should be flexible
enough to modify lessons if they are
obviously not going to plan.”

From the above lines derived from
the passage, we can conclude that
here, orchestrating the class sugg-ests
acknowledging the individual differ-
ences in the process of achievement.
Option (2) is correct.

Explanation: “A professional teacher
needs to be confident without being
arrogant. Nobody can except to have
all the answers, so, if a student asks a
real stinker, the professional teacher
should be able to defeat but offer to
find out more for the student.”
From the above lines derived from the
passage, we can conclude that here,
.... asks areal stinker.... suggests that
students can be better informed than
their teachers.

Option (1) is correct.

Explanation: A word that can best
replace the word entitles in the
passage is warrants.

Option (3) is correct.

Explanation: “So, yes, professionalism
cuts both ways: in the standards
we demand of teachers and the
framework we have for giving them
support.”

From the above lines derived from
the passage, we can conclude that the
writer’s view that professionalism
cuts both ways means trustees and
their employees owe each other
support.

Option (1) is correct.

Explanation: A word from the
passage that is the antonym of the
word unshakable, is vulnerable.
Option (1) is correct.

Explanation: “So, yes, profession-
alism cuts both ways: in the standards
we demand of teachers and the
framework we have for giving them
support.”

From the above lines derived from
the passage, we can conclude that
here, framework refers to the overall
school curriculum.

Option (2) is correct.

Explanation: “To stalk; to plunge; to
harvest; the denial-squawk of dying’s
struggle; these are bit a day’s rebuke
to hunger for the hawk, who gazed
accord with Death admits no show
of shock.”

From the above lines derived from
the poem, we can conclude that the
denial-squawk refers to the helpless
cry of its prey, to avert death.
Option (1) is correct.

Explanation: “To stalk; to plunge; to
harvest; the denial-squawk of dying’s

102.

103.

104.

105.

106.

107.

108.
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struggle; these are bit a day’s rebuke

to hunger for the hawk, who gazed

accord with Death admits no show
of shock.”

From the above lines derived from

the poem, we can conclude that to

the hawk, a day’s rebuke to hunger
suggests that the bird bows to hunger.

Option (1) is correct.

Explanation: “rebuke to hunger for

the hawk, who gazed accord with

Death admits no show of shock.”

From the above lines derived from

the poem, we can conclude that here,

glazed accord with Death means that
the prey meets death willingly.

Option (1) is correct.

Explanation: The word that is closest

in meaning to the word dappled in

the poem is spotted.

Option (4) is correct.

Explanation: “But when the spotted

hawk’s last flight is flown, He too

becomes a novice, fear-struck by the
certain plummet once these feathers
fold.”

From the above lines derived from

the poem, we can conclude that here,

he too becomes a novice suggests
that the hawk also meets death, as
weak and helpless as its prey.

Option (1) is correct.

Explanation: “Death’s users know it

is not theirs to own, ...”

The above lines exemplifies the use

of personification as a poetic device.

Option (2) is correct.

Explanation: Providing students the

opportunity to voice their opinions

and to problem solve in the target
language can encourage second
language acquisition.

m The theory of Second Language
Acquisition was proposed by
Stephen Krashen. The theory
states that a learner acquires the
ability to use both, first language
and second language, fluently and
accurately with equal strength.
Opportunities are provided to
learners, where they can voice
their opinions and solve problems
in the target language.

Option (3) is correct.

Explanation: Generally speaking,

the first language is marked by the

accent and regional expressions of
the area where students grow up.

This is so because, the first language

is acquired by children by observing

and repeating the words with similar
accents and regional expressions
from their native environment.

Option (3) is correct.

Explanation: Language learning

is better achieved if what students

learn is functional in terms of their
life values and goals.

109.

110.

111.

112.

m Language  learning  means
acquiring the practical knowledge
(speaking, understanding, and
writing) of a language. A learner
will acquire language only if
he/she is motivated to learn.
Moreover, the performance of a
student in language learning can
only be enhanced with the help of
motivation.

Option (4) is correct.
Explanation: An activity asks
students to determine from a list of
possible answers with a title what
kind of information will appear in an
input text before an audio recording
is played. Here students are actively
predicting the content of the input.
In this activity students listening and
comprehending skills are expanding
as their ability to accurately identify
the sounds and text information is
interpreted to complete the task.
In this activity, the student's
listening and comprehending skills
are enhanced as they are able to
accurately identify the sound played
in the recording along with the
interpretation of the text information
given in the input box.
Option (1) is correct.
Explanation: A speaking activity
can be made more purposeful by
insisting on correct structure and
pronunciation.
Communication or speaking skill
activities should also focus on the
structure and pronunciation.
Pronunciation of words is the first
thing noticed when someone speaks.
Having a great vocabulary is of no
use when those words can't be
pronounced well.
Giving structure to the speech will
help to make one more engaging and
powerful as a speaker.
Option (4) is correct.
Explanation: In the communicative
classroom, learners acquire the
grammar of a second language to
understand how to make meaning
and become more proficient in
speaking and writing. It develops
learners’ competence to reproduce
language in speaking and writing.

Option (1) is correct.

Explanation: Structures in second

language are better assimilated

in a pedagogical practice through
meaningful interaction with
interesting content.

m Structures in language refer to the
pattern of sentences that learners
learn to master over skills of
language learning. This involves

m Meaningful interactions
developed with communication.

m Interesting content that enhances
their cognitive and analytical
abilities.
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Option (3) is correct.
Explanation: Error correction in
students” written work is most
effective when the teacher points
out major errors using symbols and
students self-correct.
Errors give teachers an insight into
the student's thinking and also
helps them to cater to individual
needs of the student. Marking of
the errors in the written material of
the students will make them aware
of their mistakes. They will also be
able to analyze the mistake to make
necessary corrections. This will help
in concept clarity, create a positive
impact on the child and will provide
him/her with motivation and
enhanced self-confidence even after
making mistakes.
Option (2) is correct.
Explanation: Students always find it
difficult to listen to and understand
a second language presentation
inside or outside their class. This can
be helped by practice by using the
second language more. With the help
of practicing the activity repeatedly,
the learner will be able to learn and
assimilate the second language easily.
Option (3) is correct.
Explanation: When they encounter
unfamiliar words during a reading
activity, students should be trained
to use information in its context
to correctly guess its rough area
of meaning while processing the
meaning of the whole text. This will
help students to develop reading
skills by enhancing their vocabulary
and ultimately understanding the
text easily.

Option (1) is correct.

Explanation: The question that

assesses students’ ability to infer

the meaning of the text is “Why did

Mohan change his mind despite his

parents’ advice?”

m The above question will help a
teacher to assess the student’s
ability to infer the meaning of the
provided text in an open-ended
question form.

Option (4) is correct.

Explanation: While assessing a

report of a school programme for a

class journal, the following are the

main criteria are relevance, logical
organization of content, a direct style.

m A report is a detailed analysis of
something or someone. It is a
process of systematically organiz-
ing the content and presenting
information in a clear, concise,
and objective manner. The text
written in the report should be
relevant and in a direct style.

Option (2) is correct.
Explanation: While learning a
language, the computer-aided

119.

120.

instruction provides opportunities

for independent study, a wide range

of reference material and immediate
feedback about achievement.
s Computer-aided instruction
means educating oneself through
computers to make learning more
interesting and meaningful. This
type of instruction
e processes the information
according to the needs of
learners.

o offers individualized learning
experiences to learners.

e Provides learning resources
based on individual needs.

Option (1) is correct.
Explanation: A  dual-language
classroom consisting of students
speaking a native language and the
target language is beneficial because
it motivates target language speaking
students learn another language and
vice versa.

m Dual-language classroom is a
type of classroom where learning
takes place using two languages
to develop language proficiency.

Option (2) is correct.
Explanation: A student has difficulty
in applying the learned knowledge,
for example, in word problems,
the student also fails to translate
senten-ces into equations or identify
the variables. A possible solution
to this problem could be giving
carefully  designed  assignment-
simpler-simple-complex. When the
teacher accesses the errors done by
the learner, he/she will emphasize
correcting the errors, so that learning
takes place.

Language: Hindi

121.

122.

fameu (4) St ®

AR 9 R - & W

BT B, 9 YgRIET THRIES B 5 |

T fag—-

(i) wE @l 9 eE-IRa wgkmf
AHRIEAS &, W BAf § S ST
& B |

(i) ST AH—{UE T& oA

(iii) S e amaet A8 B |

fameu (2) SR ®

RIS NG TAG—ATINIE & 3R

R 57 O &, 9 B @ A AR o

SIRT |

7o famg—

(i) orEd I s 5 7o & oMy s
WY UH Sal eee v, a1
P FH IS YD 79 & T AT
T | YR & O I g &
B, Fife w6 3 fby ey
B ITIATSN DT G T 718 & |

123.

124.

125.

126.

127.

128.

329

faweu (3) SR 2

- gy R el @

MR R Y 91 & 9 BRIt &1 wwed=

3 e § fmm W R

7= g

(i) P FE AEA TH MYR W A&
AT AR 5 9% MUy v Bl

(ii) < IE PIY M BA | AET 39
YR TR & BT AN b a8
B 3BT FATEl 6 |

(iii) @rf @1 fFofy gfg—fades & emur
TR B GIRY, WG wiaHTed,
FIBASTION & MR W FHels e |

famea (4) SR B

A3 DT T TR H T

el T T OEd o g ¥ % g9

TH 919 B N & Raw 5 gee

IR AU IS HIY TS ¥ B M9

$% TEAMA % 8 | 9ec MY %

- AR & |

farpew (1) Sfera 21

AR—GS 1 5 T 4 Fged &

forersor ARt g T

T fag-

(i) S SR AUNE W9 93 9 B
(i) & 2 USAMA qF & gfed el
R JA-IaR AR § |
(iii) 9 & & TH T TH BT W A

T
(iv) 37N fUes & waERe A1 I8 §
5 fer AR arefer @1 faweryor fmn
S|
fame (2) SR 2
IEYT—"THRIHD Eal
ABRIHAD & |
foeim wreg—
() =9 faudareds s F wad §
(i) R ol & o9 Ffea aredf B
&, 99 oreff & fouRia eref < arer
vIg] B A weg e ¥
fawea (4) SR B
[RAI—"T AN T &7 D & T g™
T WA FA S AR H Y FEH
TS & foTY ygat gom B |
A —
(i) FoF ereal 1 RN = et fR
UM W 5 9 ¥, S adH
PBEd B
JaR & frg—H, gH, oY, g,
9 3R |
fawea (2) St '
AT 963 § /A1 ST Bl YT
=& T <1 Fahar ¥

faeim  wrex

(i)



330

129.

130.

131.

132.

133.

134.

135.

136.

U —

(i) W = S R v @ @
Jeax Sud of § gRadd ax
[ ¥ S ST FEd B

I’ ST B WART W 9 v —

(i) T

(i) TR

(iii) TaTfR®

fawed (1) S Bl

AT fIgeryur &1 faelm HeermuT ¥

faeim wrg—

(i) T o= & o FAfEa et B
s Bl ™ wreg Ped B

(i) =9 faudareds e 9§ wad F

faweu (3) St R

_E—S Gd-GfereMl, BREMT §

B PR T, BT H S O D3R

Siobd fhar T ¥

faeu (1) SRE 2

ARA—"THT D T B IR

AU B ARE 59 qHI &

<@ | ST ST 379 ol B E § SR

B BRI I H IR 3 T |

faweq (4) S Bl

rET—"RiErE @rel! BRI & S 3t

T Ui &1 W §—

TS & faog AdbasT Bl W@R |

ABa YUl & BRI T

JaeST g3g B T8 & qAT oS B

fIog ST SarS SO # WeH B

faeu (2) SR 2

AT ST+ 379 T 95 BT

W& T— T W9 B e BIA ITeAl Ul

TSIl B BD a1 e aredl I

ST AT ST T RToTas ave

& IIIIT T TP A ATl awed

M B a8 F §W P gUAN F&TT

PR ATl ST AR T8 <8 B

faweq (3) S Bl

AT AT’ TNYDHT Bl MR FHd Bl

T 3 iy S fdaal & Fa W T

S TR ST Bl FARR W AR &

TN S TR BN OGP B

forg fager o=a &1

fawea (4) S Bl

ATEAT— GG ST’ I 378 30 8% &

o gareTeiier 891 | Iget ST T ST

o T AfdT S1F ST ST 3TfRBIRY

& o0 AT B S ¥ o TR Sl

TN AR BT BRIAT &l SO < |

fapeu (2) SR 2

ATET—3d W TR IR ATaT—fRrefor

PT AR e 5ol ST & MER

TR A B Foreiel SR |

137.

138.

139.

140.

141.

Oswaal CTET Year-wise Solved Papers

ST

(i) w9 @ A P DA
o1 faerT |

(i) e, AHfFT AR FEEdr @

ghifod v & B gy @
fawr |

(iii) T T T T ORI BRI <71 |

fameu (3) S @

ARG, TG AR THN g A B

el R FTHIfS oRaT §RT 3rfiegad

XA B A BT A IR A G,

@, 9 e B I weal ¥ forRad

B # IR FRAT D B |

famea (4) SR B

RIS T H el o

B Tg ST WAHE IR A 91,

W Ay SR AN TS —IToT D e

% e &1 gfc 9 e Feaqy B

T fag-

(i) T B YA S AH w0 o B
P |

(i) wfee & fafdy faenel & wRfya
B B |

(iii) TS q2 IoIfae RIS |
ST B T |

fameu (2) st ®

IAREA—SE WARE "R W
THUT—fRTET0T BT ST AN &l g
B B T AR ISHHT Ieror He
¥ HEIF BT |
TpNol 318101 & Sevg—

(i) STH F §RI B H TG TG
FoIIAd gy BT b BT |

(i) g 9 B gA e |

(iii) ST & GEfEd R B FH yeE
BT |

(iv) T B IS e | TEm
# B BT YA ST

fameu (3) SR ®

ARGI—Seg TUfe wWR W R

AT & foTg Jerer] & oref foraaw

T ST IS SUART T8 8 | |

Soa W wWR R = arw-fae

o fore Suarh wfifaferi—

(i) @ T wEHE w owE A
ACT—HITRY |

(i) fasToAT, U, AEAES AR W
T T YA BT LT HRAT |

(ifl) =, SRNI—orEd, fasm <
Y B HRam |

fameu (2) S ®

FRA—IT NP WR T ATHI—

e o1 walfye Sfoa fafy smm=

fafer 71

142.

143.

144.

145.

146.

147.

e fafe—

(i) % faftr 19 o TRl eiR swErh
AR 1

(i) @ fafdy B B I I A B
forg IRT &= B

(iii) ®= 7, 971 T 9=y B 9
T @ forv emura Rigrt 9
gRfd <& B

(iv) T fafty B wemalt & forg Swarh
Bl

famea (2) SRE 2

ARAT—T ] BT TS fIBT Faifeie wq

J 1R Fva 5— Wg A-IRI W

TS ferI—

(i) uE fae™ wFT s # 9ga ggal

SR B Il B |

TE U Uhew ¥ sHb AW 9

BIF HIY0T & AIEGH ¥ GHSH AR

A PR DT AT U DR & |

(iii) s=3 UgT R forem J U=l Wi
P T T E |

famea (1) SRE 2

YRAT—I=d WAFS R TR Tg ST

T T o0 T aR-—I= § B feel @R,

TG AT FHE T 91 BT it wwst wa

TNH SH T TP AT BT B fabrT

B gH B B

faeu (4) S 21

TET—TST AREw b 3ref I ST B

AEPhT ARG W T RS A ey A

Tl B P far B ¥ fid

U AMHITS Yo ¥ | A H YEdR 8

BT WIS 3B B ¥

famen (2) S B

ARAT—HET S S Idl > oy e

B JIT R FHY AP 7T T ST

waiftrs o9 — gl B ANasNG

faervand iR ATST—yERT & e |

T fag-

(i) T P UEEE TS

(i) GoHTeTd Ta TAAS B A
WER®

(iii) =IO BT TEAFH H N AEAD

fape (4) SR 2

ARAT—ATew, R, 9Raat, ae-faars

S Tt B =T, T @I, FHTdT v

ERBATSS GRIfhaT ey BRI o

Pl e B | HEg PR S

famea (4) SR B

ARAI—TIR  AgHAT DI MBR < 4

A B YUl qFST B ¥ | g

Mg ffeared a® ¥ & I A wen

7 fafdy =+ &1 orgwe &, fafdy

WA W I P AT B AEER AT

I |

(i)




Paper-2: 2014
148. fawey (2) SRE 2

ATl sedl pam # =T A
e ¥ (i I wEH B o W
?) | FAT S 99 F IR F AT
Y Y S 39 99 B UK T 8T
& e IN—

(i) faar & v FAREa Wa, aref =&
B ||

(i) Pfar wafyeafed o wregw g1

(iii) BRIaT ¥ TRITEBaT B ¥

149. faweu (2) SR 2

YRR AT BT MheT BRA T
PR’ Seai & IR | I8 FaTd & P
HHIT: ST T FohT ThR b1 2 <& 87

331

150. fawea (4) S 7l

ARAT—YHIH! ATfefead faem 1 gy

T & RER 9o TR SIfRardd: §et < |

TR IS B Se¥d—

(i) g STORY B AR ST

(i) o IR IR & IR F g

(iii) AT PT TEVT HA DI A faBRIT
HRAT



